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>>INSTRUCTOR:  Good evening everybody and welcome to tonight's Baby Bar mini-series this is the beginning of the first session for the up and coming Baby Bar exam.

I do want to make sure No. 1 that you can all hear me.  No. 2 I do want to make sure that you have the multiple state lecture that was emailed out to you, because that will be our primary focus.

Just so you know all sessions of this series also be recorded for your convenience so if you ever want to go back to an actual lecture, or if there's a lecture you can't attend it will be on Taft's website in the student section and of course once you go into student section just look for the Baby Bar mini-series and click on whatever lecture you're interested in, also if there's any handout given during that lecture levering be posted on the website for your convenience as well.

Okay.

Again, well cop.  Let's go ahead and get started with the multi‑state lecture, the one thing that students have a hard time is with multiple choice questions so it's something you have to work on and it comes with practice and the more multi‑states you can understand how the concepts tested the better off you're going be, my job is to kind of give you an idea how they're tested and give you some shortcuts so you can save yourself some time.  Because again we're all worried about the 1.8 minute you get per multiply choice question, always afraid of running out of time.  So these one of our fears.  At this point in your studies it should be a fear, I want you to know how to properly take them, as to properly read a fact pattern dissect a call and go through the process and then we get mid-September I would start worrying about your timing so you're probably not going to be that strong because it's a process it does take time.

All right.  Now the first thing you need to know is the subjects that are covered on the Baby Bar.

And you'll be responsible for torts, contracts, UCC, Uniform Commercial Code and crim law.  UCC is going to be one of our weaknesses because it's offered in your fourth year so it's something you want to start studying I would recommend the Gilberts it's calls the sales, S‑A‑L‑E‑S so you understand the codes and [Indiscernible].

Follow your checklist so when you start with common law rights and you see there's a an acceptance and it fails, if the UCC does apply and then you looking to the UCC acceptance if that would work for whatever the fact pattern is telling to find that will be valid.  You just implement the UCC but it's something you need to work on because it is highly testable ton Baby Bar examination is it something I want you to work on.  With the UCC a lot of things I see is very rule oriented so a lot of thing tests such as the warranties or the actual remedies you should know on the code, UCC.

Good thing about the torts, it's directed towards the elements it's more of the black letter law so you want to make sure you know the law and see what the question is testing.  Verses contracts for more demanding on your reading comprehension so the fact patterns you're going see in fats are very long and lengthy.  But again you're not going to worry about that because you're going to see torts or crim law are going to be shorter so you can make up your time with the tort or crim law question and obviously spend 2 minutes or 2 and a half on the question because it's lengthy.  And crim law just like the torts is focus on the black letter law.  It's interesting when students do take multiple choice questions, we look at it as a whole.

Robbery.

You never break it apart and see, was there is a trespassory taking was there a carrying away, was it a personal property of another.  Was it force, fear or intimidation, did they have a specific intent to deprive, we look at it, which we shouldn't as a whole of robbery.  Your job and the examiners we don't do this is to break apart the elements and make sure, based on the facts in that question, it is supported.

If it's not and then obviously there's no robbery you have to prove each and every element to find the defendant guilty of that underlying crime.  So you want to keep that in mind.  And for some reason on multiple choices we don't do it we do it on essay because we need to break apart each and every element, you're doing the same an essay as the multiple choice but you have four answer choices.  So you want to remember that.

So the multi‑states is an objective exams with four answer choices the questions on the Baby Bar are going to be mixed so obviously the torts class you go take your torts final what do you get?  You get torts.  Baby Bar, they're going to mix them up and you have to determine the subject matter that's being tested, now the one thing you want to understand all of the multi‑state questions are worth the same value, whether it's a tort or crim law question they get the same point value.  Convert it to a 400 point scale and scale it down and that would be your actual score.  When taking a multiply state I want you to use your checklist and mark up that fact pattern I'm sure when you read an essay you're marking up with the issues while wouldn't you do the same thing on the multiply choice question and for some reason, we don't.  You need to do that.

Now multi‑state questions is comprised of 3 parts you have the root which is considered the fact pattern, you are the stem which is the call of the question and then you have the options which are your answer choices.

When reading the question, remember to read the facts very carefully, the examiners know we don't read right.  You want to break it apart, dissect it and look to what they're trying to tell you, look to the operative language.  The fact pattern turns on the details of the facts.  So if we don't properly read the facts or misread the facts we're going to get the wrong answer choice and again the examiners know that.

And you need to determine what is relevant in the facts and what's irrelevant.

So what supported based upon whatever the issue is, based on what you're [Indiscernible] and again they're using at specific language.  Uniform police officer, a lot of times when people see that in the fact pattern they see undercover, they said uniform police officer.  So you want to look to a language to make sure what are the examiners telling you that's important?

Now, how do you read a multi‑state question?

Well when taking a multi‑state question, the first thing you need to do is start with the stem, i.e. the call of the question, this is going to help you in many ways.  No. 1, It can that are row you down to the specific subject matter that's being tested so if I read it can Joe be guilty I know it's crim law.

So if we can narrow you down that's going to help you understand what's subject being tested.  They can specifically narrow you down to the underlying issue.  So can be Joe be guilty of the robbery.  It doesn't mean it's a robbery, oh we're imputing to him Pinkerton's for the conspiracy.  So that's the area we're looking at.  Once you read the call of the he request you want to read the fact pattern carefully you want to dissect it and break apart look to the facts.  Start marking up the fact pattern to see what's going on.  Generally tell you in an essay you're going to what?  Read it more than once.

Unfortunately for multiply choice questions, we don't have the luxury of time.  So read slowly and mark it up, so if it's a contract question, and I see Joe called Mary, was it is a preliminary negotiation or offer?  And then Mary said you know I do want to buy your car, but ‑‑ was that an acceptance or counter offer?  You should be marking it up and pulling out pursuant to the facts what the facts support.  Counter offer, acceptance whatever the case may be.  That's very very important.  And that will help you too because when you get down obviously back to the question, you're going to hone in as to what's being actually tested itself.

Also, the key thing is when you get down to the options, make sure you're answering the call of the question.

So, some general rules No. 1, don't ever assume facts.

On your multiple choice questions don't make the proper harder than what it is, keep it simple.  If there's multiple ways to interpret the question, go for the straightforward one.  Don't make it complex or if we did this or added this, no it's straightforward they're not trying to trick you that way and they can't really I want you to interpret the fact this way it has to be fair so don't make it complicated.  No. 2 look for [Indiscernible] facts while reading the exam, the multi‑state if you see a statute on the exam what should you do?  Break apart the statute by the elements.  You're stuck with that statute itself and you need to determine to whether or not it's been complied with or not.  Read the statute very carefully and dissect it.  Most statutes do not apply, right so if you look to the actual facts you're going to find a lot of times it's not supported based upon the facts so it fails.

In the examiners know a lot of times we automatically think they gave us a statute it's going to work.  It's not.

Right so you want to break it apart and make sure that the statute supported, pursuant to the facts.

And a lot of times whether it's essay or multiple choice question, students don't use the statutes.

I'm not sure why.  I don't know if they're afraid of them or what.  But you have to apply with what they gave you.  So that's very important.

No. 3, the question is specific.

So an example would be what is the best defense?

What claim will succeed?

You need to rewrite the call of the question.

So, for a crim law question, let's say which is the best defense?  We're trying to get the defendant off, we're going to look at ‑‑ I would probably rewrite this until I get it in my memory bank, based on what facts what would support the defendant not going guilty I'm trying to get him off I'm trying to show he's not guilty so I are to have that in my mindset I'm trying to find him not guilty.  Or a torts question, what claim will succeed?  Then I'm looking to rewriting the question, which is the only claim based on these facts that there will be success on.  So if I'm dealing with let's say battery, negligence and strict liability, paced on the facts which is going to truly prevail?  What is my best and break it apart pursuant to the facts.

And if you see multiply state question that has answer choices because or since what you're going to learn these are conclusions.

So therefore, everything after the since or because has to be true.

And the first example we're going to look at has that so you get a good understanding of how this working and this will help you eliminate two answer choices right off the bat.

Why is that important?

Time.

Remember, if you have any questions at in I time please let me know I'll be more than happy to answer them and make sure you place them under the question and answer box not the chat box so I can only answer one at a time.  So let's go ahead and look at question No. 1.

Now the first thing you're always going to do is look at the stem, remember the call of the question.  And hear it says, is if Pete is charged with assault will he be found.  And I have my answer choices.  So I know the issue is.  Assault and it says charged.  So that a tort?  Or is that crim law?

We don't use the word charge for crim law, question.  So that's where my mindset so I'm going to be thinking of my crim law checklist so I narrowed me down to assault.  So let's look at the language in the fact pattern now.

In the state of X... (Reading).

So they defined an assault for me and that's what do I need to show.  So the two elements of the actual statutes right?

As Peter was walking down... (Reading).

Now, remember, how do I know to determine what is the correct answer?

They gave me a statute that defined what I need to meet for an assault, attempt to commit a battery, right?

So I need to show all of the elements of what?

An attempt.

Very tricky on their part.  So that's means I need to show the specific intent, he took a substantial step.

I need to show what?

Elements ‑‑ [Indiscernible].

Pursuant to the facts each of one of these elements has been met.  So remember, you need to make sure the facts support whatever the issue is.

So I would have to dissect each one of these in my mind and make sure the facts support them.  Now looking at this question, what can I see that they're placing on issue?  So remember, on a multi‑state, okay, I see the issues the assault, but within the assault are they testing here?

Right?

And the really testing because they use the attempt to commit a battery, attempt element which within the attempt element they're testing the intent did he have the what?  Specific intent?  So you're looking at did Pete have specific intent to basically assault Mary and that's why I honed in the issue they're testing.  Notice I've gone through the steps before I look add the answer choices.  Why?  I want to understand what they're testing verses just reading the answer choices eeny meeny miny moe and eliminate and pick the answer, the problem doing it that way I get the second best I have to hone in to what they're testing which I have now.  Now if you glance quickly at the answer choices guilty because and not guilty is C and D can I eliminate two off the best and since I don't feel he has the mens rea, I can say I can eliminate A and B right off the bat right and then I would have to look to options C and D remember because when they use the because or since, everything after that is a conclusion so I know if the answer is yes or no or guilty or not guilty I can know I can eliminate two with that type of call of the question that's a going to help me based on the answer choices they've given me, however we're going to go through all of them so we can eliminate them all and see why.  That's important.  If you miss a question I want to know why you have to write it out so if you found him guilty, why did you see it that way?  Maybe you applied tort law.  Right?  You need to figure that out so you can hone in on your weakness, and what you work on.  Otherwise we're going to be doing the same thing over and over which we don't want to do we?  So let's go ahead and look at the answer choices.  Remember as I pointed to out to you, generally in real life when you practice these you're going to eliminate two right off the bat because of the modifiers sense since or because and this question is because.  Answer A. states what?  Guilty... (Reading).

See a lot of people would pick that answer but that's more tort language why?  Look to the actual statute the attempt to commit what?  A battery.

Right?  So you do want to break that apart.  So assault as defined commit a battery.  So answer A shows he has amp he thinks we know what's being tested here is the intent.  Okay.  B.

Guilty... (Reading).

Again, does this show the mens rea?

Well specific intent so B is out.  Right?  So if you couldn't eliminate the two right off the bat by going through the black letter law you know they're at.  Look at answer C.  (Reading).

That looks good because it seems to go what?  So the mens rea of the statute that he had no specific intent.  So I'm going to put a + by it I won't pick it until I look to my second option D, which would be why?  D could be more specific say it changes to he had no intent.  So you want to make sure you read the two and see why is one better than the other?  Two correct answers but one is always better than the other and we need to know why.

Look at D... (Reading).

Well that is true didn't it?

Right.  It's good, it sounds good.  It has language but it's not specific enough compared to C, why?

C goes to the actual element they're testing.

He had no intent.

And remember, process of going through the statute we found that they were testing [Indiscernible].  So C is stronger after D, D is not wrong but it's not the best answer choice.  And that is what you guys are up against on your multiple choice questions.  You'll get down to the two but one is always better than the other.  And how do I know which one that is?

And of course in looking at this too to give you a hint not because he didn't intend to touch Mary.  Verses C he had no intent is legally correct.  So if you have an answer that is legally correct verses factual correct, always lose the legally correct.

So in this question, C is the best and the only answer you would choose.  Everybody understand that?

All right there's other modifiers you see in your answer choices, if and unless these are the worst for most students when you see if as a modifier everything after the if must be true.

As for the answer choices using unless as a modifier the best way to attack this kind of answer choice is to rewrite it period.  So if it says no, unless, cross that put yes, if.  Or if it says yes, cross it out and put what?

No, unless.  So you have to make sure I understand almost neglect they don't compute right in your brain so you want to make sure with your if, everything after the if has to be true.  If it's an unless, rewrite the question.

Yes, unless is a no, if.

No, unless is a yes, if, remember everything after that if has to be true and then you'll be able to get the correct answer.

So let's look at the example of this and see if we a can apply it.  So this is example No. 2.

Again, what should you do?

Look to the equal of the question.  If Sam starts a claim... (Reading).

Misrepresentation can be intentional or neglect, so it can type of fraud or negative miss represent, but I know its torts, why?  Because we is have Sam prevailing against Tammy it would not be a contract call.  So let's go through the facts.

Tammy is a chemical engineer... (Reading).

Okay.  Now, Sam asserts the claim list... (Reading).

What you need for misrepresentation?

What do you need?  You need a false statement, right?

Which one justified or relied to their detriment and it has to be a material fact.

Based on these facts can you tell what they're testing here?

So she approached Sam, she has ‑‑ (No sound).

Was there a false statement?

Right?

Because she didn't say anything he offered to buy stock for $6.

So the issue now is does she have an obligation to disclose that?  So there was a false statement or the issue was there is a false statement?  Now answer choice A and B say yes, because B says yes, if.  I feel she's going to be responsible for misrepresentation I feel the answer is no.

So I can get rid of A because it says yes, because everything after the because right is a conclusion.

B says yes if, so I'm going to have to read it because it can change the facts on me.  C says no unless, but that's a yes if isn't it so I rewrite that yes, if.  So I look to the facts and see if it changed the situation on me.  And D is no, if, I have to read B C and D the only one I can eliminate rather quickly is what?

A.

Right?

So I again A can be eliminated because of the modifier, and you need to go through and the elements of misrepresentation, to see what is or wasn't satisfied.  So I know basically she knew the truth it she didn't make a misrepresentation, there was no fiduciary relationship such as being a director for the corporation, so A is out.

Let's look at B, so remember, everything after the if must be [Indiscernible].

(Sound cutting in and out).

Well now we're looking through the elements she has to make a representation, doesn't she?  A false statement of fact.

There's nothing here says she has that obligation.  So no, B is incorrect.  So B is out.

Let's look at C, no unless.

Again we're going to rewrite that to yes, if, now, remember everything after the if has to be absolutely true.  So, we're going to look to the facts and it says, yes, if Tammy... (Reading).

Well, C looks correct doesn't it, because then she made a representation, because she knows that's a false statement because she knows about the compound because it's in short supply.  So C looks good, so I'll put a + there.  I have to read D.  So everything after the F has to be true.

(Readings).

What are the facts that the financial statement was made available to Sam does that support any elements of misrepresentation?

It doesn't does it?

If the facts told you that Sam had the financial statement and read it and knew this that would support an element of misrepresentation that would support he didn't rely, right?  Because he already knew.  But this is a supporting elements here that is going to help me for misrepresentation, because we're looking at the falsity of the statement.  We're looking at a false statement being made and there was no false statement made so C has to be the best answer.  So again when you take the multi‑state question, you break apart the elements, see if they're all supported based upon the facts and hone in as to what particular element are they testing?

Right?  That's important.

All right.  Let's look at example No. 3 now.

All right.

Again, go to where?  Go to the stem.

In an action for false imprisonment... (Reading).

So I see its false imprisonment and she's suing individuals.  So I know its torts.

So false imprisonment remember, what do you need?  A false what?

Intentional, so we know we need to have the intent, confinement, physical and psychological confinement of another.  So you want to see what they're putting at issue.  How do I know that?  Based upon the facts.

Right?  So it's going to be based on the actual facts.

Tillie Taylor was a member of the... (Reading).

Now, remember the call is asking for false imprisonment and what do we need to show the intentional, physical or psychological confinement of another.  What are they placing at issue here?

Anybody tell me?

So, looking at your answer choices, I see, [Indiscernible].

So you should be able eliminate two answer choices right off the bat.

Right?

And do we feel she's going to be able to recover?

Or not recover?  So that's where you have to go through your elements because if you feel there is a false imprisonment here you're going to eliminate not recover C and D right off the bat.  But based on the facts she's not going to be able to recover why?  Because was there any intent?  They want her out not in.  So a lot of people jump on the physical psychological confinement she was, she's paranoid but they don't want her in, they want her out.  Recover?  So I would get rid of options A and B because the since everything after the inclusion get rid of it.  So that least me to options C and D.  So now let's see what answer choices the test of the two?

C.... (Reading).

That looks good but I don't say hurray right off the bat because the language did not intent, it's a statement of fact, it does go to the intent duh it's not ‑‑ he did not have or they did not have the actual intent to keep her in her home.

D not... (Reading).

She doesn't have to be under constraint it could be psychological.  Which is what's going on here, so your best answer choice is what?

C.

Because it goes to the actual element that's lacking here which is what?  The intent.  We have psychological confinement it is of another.  Where we falter here nor the claim of false imprisonment, he wants her to return he doesn't want her to stay in the house.  So C is the best answer, why?  Because of the intentional element.  This is an example of how you need to break apart the actual elements of false imprisonment.  Dissect it and determine as to what's being tested.  Because if you didn't most students in this question jump on the psychological confinement and they do find there's false imprisonment.  But no, why?  Because there was no intent.  So you don't want to jump for the obvious you want to be careful before you choose your answer choice.  Okay.

Now, we kind of have an of idea of what do we do with the sense when they're modifiers that everything has to be basically a conclusion.  We know how to look at if in the anxious choices that everything after the if must be absolutely true.

We know if we have the yes unless those type of questions we're going to rewrite ifs and make sure everything after the if is true.  Otherwise we mix those up because they're kind of backwards to us and pick the wrong answer choices so we have a good idea of how to handle what?

In regards to these particular types of questions.  So let's go over a few and apply it and see if we've got it.

Under test questions looking at question No. 1.  Again, look to the call of the question.

Again, the more of these I can get you to look at.  What's going to start happening is, oh, I understand how the concepts are testing.  The more I can get you to understand how the concepts and you can be quicker in answering any questions at all.  Read the call.

May Thomas bring the lawsuit now?  Doing enough after these you probably know what this is already.  You know the issue, what I call [Indiscernible] but let's go through it.

On November 1, 2009... (Reading).

We're contracted November what?

First.  On December 29th you're basically saying you're not going to do it.  So can I bring the lawsuit now?  And with anticipatory breech you can show that a party repudiated, but is the contract an executory stages?

What does that mean?

That means one party is not fully performed yet, or both parties have not started performance, so it still in executory stages, [Indiscernible] breech, some peep call it repudiation, I want to keep them separate.  [Indiscernible] executory stages you can sue now you don't have to wait and see is what we call it.  So now can I eliminate too because I feel he can.

I can get rid of A and B, and I only have to read answer choices C and D.

(Reading).

Like it.

D says... (Reading).

That has nothing to do with proving the document of [Indiscernible] breech.  So C is the best answer.  So remember you need it to be in executory stages and repudiation so that is why he can bring the lawsuit now.

Okay.

Once you start breaking it apart it's not that horrific but you have to apply your tools.  Let's look at question No. No. 2.

The most serious... (Reading).

So you might see multiple crimes but there's only one that the facts are going to support each and every element that he's convicted.  Let's read the facts.

Biff goes to Jackson... (Reading).

So intending to break in gives you the mens rea, so it narrows me down it's going to be a specific intent crime it does say 3:30.

What time of day is that?

Not nighttime.  So I'm thinking burglary is not there.

When he arrives... (Reading).

Now, look at the actual elements.

I mean, burglary needed at nighttime so that's out of there.  If you go through your checklist.  Larceny, well is there a trespassory taking away... Yeah those elements look good so I put the plus there.

[Indiscernible] didn't make any representation, of an existing fact.

Embezzlement there's no entressment here.  False pretenses he didn't make any presentation.  So it looks like larceny to me, now look at my anxious choices.

A says larceny, like that put a plus.

B robbery.  Robbery same as larceny except you need force, fear and intimidation, I didn't put any force, fear or intimidation, so these out.  Embezzlement there's what?

No ‑‑ [Indiscernible] so the answer choice has to be A.

[Indiscernible].

(Sound going in and out.)  You have to break it apart.

Now, and if you did, remember for the multi‑states you use common law.  Unless they tell you otherwise.

Right so common law unless stated in the call or I ‑‑ now, in that the only answer choices are all modern we have to pick the best of the modern, right?

Common law verses modern use the common law.

Right?

Yes, in regards to going through it as to does not plus minus, absolutely in the process of elimination, but make me go through the analytical thinking but that's where we lack these.  Don't do it.  We look at it as a whole and try to pick the answer, yeah we do it on the essays, you apply the same principles to the multi‑states.  You have to do the same application it's important.  So question No. 2, the only correct answer would be A, everybody agree?  Let's look at question No. 3, again you should do what?

Always read the call of the question.

(Reading).

So what did they tell you here?

Right.  So what's the difference between modern law arson and common law?

Well, with common law, what do you need?  The dwelling house of another.

Right?

Modern could be any structure, everyone your own, that's one big difference but let's go through the facts.  I'm on question No. 3.

Mel's painting his car... (Reading).

Looked a convicted or acquitted and it's got the because.

I can eliminate one or two answer choices right off the bat?  So how many say convicted?

If so, you just eliminate B C and D.  Right?

So it's going to be acquitted, why?

What do you need to show?  Malicious.  Which I only see like inadvertent.

So the only answer is option A.

I would have to read answer choices B, C and D and determine which is the better answer choice.  So let's go through them.

Acquitted was a he did not burn down a dwelling.

[Indiscernible].

(Sound cutting in and out).

Burning down a garage but that's not a quick statement.

C acquitted... (Reading).

And that's the wrong answer.  So B and C are wrong for what reason?

They go to the elements of common law.

D acquitted... (Reading).

That's dead set on for modern, so ‑‑ D ‑‑ the call of the question is testing modern arson.

So what's the best answer?

Acquitted because of the dwelling which is option B or acquitted because of the garage was his own property.  What is the best of those two?

Probably most likely would go why?

Garage you can argue is within the [Indiscernible] in the dwelling verses you can't burn your own property pursuant to your common law statute.

Does that make sense?

Key thing is to this question if you get it wrong they don't apply the modern law statute, they apply the common law, so pay attention to that, common law applies first, right?  Unless they ask [Indiscernible].

(No sound) because they will trick you with that stuff.

Tell the difference between whether it's a tort or a contract or [Indiscernible] absolutely.  So that's a fear factor that's should be dissipated in your mind.  We'll read it and don't know what it is.  Keep practicing and I determine every time what the subject matter is, you'll be able to, so that shouldn't be a fear, so that's relatively easy to cover but you have to pay attention to what it'sest testing.  Do you know crim law is the least tested for the multi‑states for most students?  Crim law, most take that in [Indiscernible], how can it be the lowest score?  Because they trick you can tort language.  So you need to pay ‑‑ (No sound).

Now, they generally don't do that, so I will tell you in essence the going based upon the knowledge based according to common law they have to tell you otherwise.

So, if I'm looking at modern law, right?

In regard to modern law statutes, option C because garage was his property, you now can burn down your own property and the reason I'm applying it is because the call said most modern statutes.  So remember you can be guilty of arson modally for burning your own house.

Or your own structure.

Common law it has to be a dwelling house of another.

So that's why option C is gone.  The one that works here, right?  Would be D because the mens rea, the extreme disregard just wasn't there.

So if you took the garage not being a structure, well his own property because the garage was his own property, if you have a structure of another, I'm confused that would still make you guilty of [Indiscernible], common law, dwelling house of another, so break apart your elements.  So, [Indiscernible] between two answers.

Can you determine based on this what they put at issue?  Well again he falls asleep with the cigarette, what are they testing here?  The mens rea.

And see that's [Indiscernible].  And both of them can be correct, but what is the question actually?  And that's why I get students e‑mailing all the time.  Thought it was a consideration issue in contracts.  No, consideration dealing with the issue of mistake and they get frustrated but you have to hone in and understand what are they actually testing here?

Important.  Or [Indiscernible] evidence is one people get frustrated with.  They were test was the contract fully integrated verses the exception of the evidence rule, you need to know that.  That's why I tell you when you start doing the multi‑states please plug them into your checklist, how have you seen pearl evidence tested.  I've seen it tested this way and this way.  Because again they're not always the same so you get frustrated when you missed a parole evidence question and didn't figure out your why and see the same type of question, answer choice that you knew you read before was correct, testing the same thing in the parole evidence.

That's important.

Like you're day saying, people don't look at it, every crime as mens rea, generally they test the mens rea, you have to figure out what that actually is.  So it is specific intent?  Is it general intent?

Right?

[Indiscernible] such for your arson.

Again you have to determine that by [Indiscernible] and then we have a tendency not to do that, you have to break it apart.  It's hard when you read the call, I need to mark it up.

Or else I miss it myself, how embarrassing you need to break it apart.  That's why you map out the facts and see what way the examiners are going.  Better to have a marked up book and pass than have a pristine book and not pass.  Everybody with me?

All right.  Question No. 4.  Again read the stem.

(Reading).

Murder, what do you think of?

Murder is a killing of what?  Malice you need to show intent to kill or cause great bodily harm or [Indiscernible].

So that's the I can what?  Malice so I have to look to the facts and see if any of these ways to show malice is supported, right?  A man went into a high school... (Reading).

What crime is that?  That's a larceny.  As he was... (Reading).

Was is there intent to kill?

Was there intent to create bodily harm?

What did they tell you?

Was there wanton and reckless conduct.

I don't think he was acting wanton and reckless, so what are they putting at issue.  [Indiscernible].  But is larceny inherently dangerous felony?  They really tested the felony murder rule.  So I can anxious yes or no right off the bat?  Because you have the because as the conclusions.  So you can eliminate two answer choices.  Eliminate answer choice C, right?  Right off the bat now I'm going to look at answer choices A and B, I'm going to look to the one that specifically goes to the felony murder rule and point out whether or not it's inherently dangerous, they're testing.  So go to option A.  No, because the list (Reading).

Which is true, because that's really a reiteration of the facts.  Don't like it but put a plus by it and look at option B.  No, because larceny... (Reading) does that seem to go debt he set of what they're testing?  Yes, otherwise give the facts rah leaving the parking lot, accidentally, that's what they're telling you.

Right.  So I know B is the best answer because they're testing whether or not this occurred in the commission of inherent and dangerous felony.  This is a good question and I put a star by it.  They have tested this within the last 3 years of the Baby Bar.  And a lot of times on the essay because students don't know how to argue.  They give you weird facts, such adds inadvertent [Indiscernible], wait, did he reach a place of safety or not.  They're playing with you, read the model answers so you know how to argue.  And it comes up a lot.  Students aren't doing well on the issue.  So they're going to keep retesting knowing I've got my bell curve here because students don't understand this.

Again for question No. 4, B is the best answer.

All right let's look at question No. 5.  What do we start with? The stem.

Some people can I read the four answer choices.  I read the stem and go to the fact pattern.  I cannot read the stem and read the four answer choices, if you can and you're that fast go, for it.  This is something you want to implement and start practicing and see if it works for you.

(Reading).

Okay.

Can I determine what's the issue?  Probably a tort.  Liz verses Wong.

That's about it.

All right.  Liz and her boyfriend Lucas... (Reading).

He's the restaurant owner that she's suing.

As Liz was walking... (Reading).

What's the theory probably going to be?  He slipped and fell and suing Wong, probably negligence and under negligence does she owe her duty.  So the question is did he breech that duty?  For question 4 going back for a minute we didn't have a second [Indiscernible] I'm stuck with what they gave me.

Right?

So they're asking is he guilty I don't have that as an option.

All right.  Going back to question 5.  She just fell on the egg roll.

When she fell... (Reading).

There's no relationship there.  No omission to act.

Asserts a claim for the Wong she suffered for the fall.  Will she recover or not?

Wong thinking most likely ‑‑ (No sound).

I need some facts to show he had knowledge.

If he knew about it and failed to remedy the situation will be responsible if he didn't, and then the answer is no.

[Indiscernible].

Based on the call of the question so I have to read them all.

A says, recover because the... (Reading).

He has to know.  Knew or should have known.  So I don't like A.

B says... (Reading).

Well that looks good why?

Because supports says he has a duty to inspect, and it's been there for a long time and that means he's not doing his job.  So that supports a duty and a breech.  C.... (Reading).  Knew that seems to be an intentional sort that's out.  He doesn't have to know, know or should have known is the test.

D... (Reading).

Does that matter?

Remember the [Indiscernible] so customers drop things on the floor all the time.

So that's not going to cut off liability.  So B is your answer best.  Why?  Because if it was there for a substantial period of time, [Indiscernible].  And should have remedied the situation or what?

[Indiscernible].

So, for question No. 5, B is the correct answer.

Yeah.  So basically, because why?  We're under negligence and we're under duty, under invitee.  So invitee, you suspect and discover unpotential dangers, verses if it's been there a long time, should have known.  That's something they do test.  So for question No. 5, B is the correct answer.  So let's look at question No. 6.  Which of the following is correct.

Ambiguous, so you have to read the facts.

On October first... (Reading).

Okay.  So that looks like an offer to me.

Acceptance was to be... (Reading).

Okay.  So you got accepted by the 10th or the offer is terminated.

Madison... (Reading).

Oh, so there's my acceptance.

The acceptance arrived on October 7th.  So I'm thinking if it's on the 3rd when was the contract formed on the 3rd, not when it received on the 4th on October 4th we're going back in time.  Arthur sold it back to... (Reading).

So, they're playing with you with what?

When was the contract created?  Mailbox rule.

So, mailbox rule pursuant to the rule it's effective upon dispatch which would be on October third, you have a contract.  You didn't sell the land on October 4th so guess what?

Arthur's in breech, so what's the choices?  

A... (Reading).

Well that looks true.

B... (Reading).

That's false because contract was formed on the 3rd.

C.... (Reading).

That would support an option.

And we know that's false why?  There was no support by consideration, plus remember with an option contract, mailbox rule does not apply.  So with an option contract or firm offer, you cannot have the mailbox rule.

D.... (Reading).

Well, no, is that a true statement?

He already accepted first which would be on the third.  And the revocation did come in.  He didn't get the letter until the 6th.  So there was a valid contract so A would be my best answer choice.  Again, remember under the mailbox rule, accepted upon dispatch, if you do see an issue approved the acceptance first [Indiscernible].  And then bring up the mailbox rule as to when it would be effective.  The mailbox says when it would be accepted.  So you have to have a true issue.  Look to the facts and make sure you have an acceptance.  Now we did a few multi‑states you should have a better understanding how to process and eliminate wrong answer choices and make sure you focus on the call of the question, the stem, break out your elements of what's being tested so if it's a theory of negligence don't look at it as a whole of negligence, was there is a duty?  Was there a breach?  Because there damages?  Dissect it and then from that, the elements I just listed, see what should be tested or it is a proximate cause, or is it the fact that they had to dissect it so I see its negligence.  I see with ‑‑ (No sound).

Then you've got to go that far.

You don't, you're ‑‑ (No sound).  You're seeing what they're testing it's very very important.  (No sound).

That saves you time.  So practice that and see if you can get rid of two of them.

Because you don't have to read them.  And lot of time students read them and [Indiscernible] and take what are you doing it.  Shouldn't have read them financial statement in the first place, get rid of them.

What is very important?  I need you ‑‑ you know, 50 multi‑states on 8 1/2 by 11, that's not going to work, so she did them in columns, 15 per column.  So give yourself some room and write out why did you miss?  Does ever because you didn't apply the elements?  Do you know why?  Because you're going to make the same mistake again and again.  Practice when you've done multi‑states you come across a question, and don't know the answer, because you probably didn't figure out the why [Indiscernible].

Why did you pick negligence when the anxious was strict liability?  Why did you pick, you know, contributory negligence when the answer was duty?  Because if you cannot [Indiscernible] answer choice.  So I need to remember that, and know that.  And if you why quickly.  It's going to become embedded in your memory.  And then you'll know them.  Absolutely checklist you should use them for your multi‑states.  Those are your tools.  Use them.  Why?  We have a tendency to forget things.

Right?  Dissect them and use them that's very very important.  I do want you to correct answer.  If you merely just read the correct answer, that's not enough to remember it for No. 1 so you read the correct answer you probably knew that's what it was anyway.

[Indiscernible].

Choose it.

Because didn't apply it, something is going on and I need to figure it out, why?

The same mistake over and over, that and where your frustration is going to be.  Since you're just starting, take it in sections.

I feel confident in torts.  So pull out your multi‑state method and do the areas in that area.  Why?  Well if I study all torts and take all tort questions, [Indiscernible].  Let's say I do, I get [Indiscernible] what am I thinking?

I don't know torts.  Do it in sections and start as a building process.

Oh, didn't know we were responsibility what are whatever the tort is.  You're going to hone in as to what it is.  Break them in sections and then once you feel confident with the subject [Indiscernible].

Then, you can do what I call a mix of all of the tort issues.

(Sound cutting in and out).

Yeah, so in regards to question 5, the answer choices didn't go to a breach it went to the element of duty.  So yes, he did breech his duty because she should have substantially known but that wasn't one of my options, right?  So again I have to go with what they gave me, but that actually correct, yes and do it in sections that's going to help you immensely.  All right.  So kind of [Indiscernible] work with what we're going to be doing for the next 10 weeks, we just went over multi‑states and how to take multi‑states, next week I'll go over with you inked in torts so I want you to review the subject matter so you have an idea of what I'm talking about.  I don't sit you and read you the definitions it's a waste of time.  I'm going to tell you how they test the concepts.  In certain things you need to look out for.  So certain areas I'm going have you look out for and how they test on the exam.  So mark it and make sure you understand it and learn it.  And then after you the review the subject matter, the following week after, that we'll go over essay questions and multi‑states to make sure you're understanding how the issues come up in the fact pattern, that you're properly reading the essay question, and the multi‑states and understanding the correct answer choice, the concepts.

The elements is on you, I want to see your essay questions I want you to write them, I know it's difficult but the more you write them you're going to understand how issues come up with your weaknesses are, what to work on if you write them and read the model answer, yeah I would do that, probably not.  You need to learn by your mistakes, don't like it myself but that's the best way to learn.  And then we'll proceed to contracts doing the same thing, crim law, we'll have a review of the most recent Baby Bar questions but we're only going have 3 since they tested crim procedure which you're not responsible for and multi‑state review and so you get a good understanding of timing and that's what you should look at too, once you get the subjects underneath your belt.  Start working on your timing.  Because that's going to be the faster 4 hours.

And multi‑states in 3 hours that's going to be the fastest 3 hours.

But believe me it does.

Okay.  So that again, is something you want to work on is your timing.

All right.

[Indiscernible] from your torts because we're going to go over review next week.  Does anybody have any questions?

Start implementing [Indiscernible] in regard to the multiple choice questions, use your process of elimination, stuff like that, and if you kind something and practice work, share with the group.  The more the merrier, but we all think differently, how we do the process of things so if you find something works feel free to share.  Since nobody has any questions I wish you guys good night.  Please review your torts so you're prepared for next week's lecture and if you're ahead great, start practicing your multi‑states, and you can go to the Taft's student sections and we have prior Baby Bar to look at.  Because you're going to see how they currently test and that's important.

All right.  I guess I'll see you guys next week.  Good night.   
[7:00 PM ]
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